Exam. Code : 213104
Subject Code: 5077

M.A. Economics 4™ Semester
ECONOMICS OF PLANNING
Paper : MAE-401

Time Allowed—2 Hours] [Maximum Marks—100

Note :— There are Eight questions of equal marks. Candidates

are required to attempt any Four questions.
What do you understand by planning ? What are the
requisites for successful planning ?
What is the rationale of planning ? How planning is
accomplished in developing countries ? Give suitable
examples from third world countries.
Evaluate the choice of techniques using Sen-Dobb thesis.
What are policy implications of choice of techniques ?
Give suitable examples.
What is meant by technology transfer ? What are the
channels and hurdles in technology transfer in developing
countries. Give suitable examples from Indian experiences.
Define project evaluation. Evaluate project planning and
commercial profitability criteria by giving a suitable example.
Make a comparison of Little Mirrless and UNIDO

approaches. What are their relative significance ?
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How Harrod-Domar model is relevant in development
planning in globalized era ? List the practical policy
implications of the model.
What are the objectives of Indian Planning ? The
development experience of Indian Planning has been mixed.
Comment.
(Punjabi Version)
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